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e If a medical procedure calls for 1.0 mg of '**Ba, how much isotope would be required
to be able to use it exactly one week later? The half life of '**Ba is 2.43 days.

The decay constant, A, is related to the half life, A = 2 _ 2 _ 0.285
tl/Z 2.43 days

days'l. The number of radioactive nuclei present reduces with time according

to:
N
ln(—o] = At
Ny

With a decay constant, A = 0.285 days, and N; = 1.0 mg for # = 7 days, the
amount originally present would have to be:

Ny
In NP =(0.285 x 7
(1.0x10™ @)

Ny=0.0074 g =7.4 mg

Answer: 7.4 mg

Marks
2



